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Instructions :

1, In the duration of 3 hours 15 minutes, 15 Minutes of time is aflatted to read the guestion
paper !

4 All the answers shall be written in the sef@rate answer booklet only.

’ Question paper consists of 4 Sections which Includes 33 Questions.

. internal choice is availoble in Section IV OnlY,

E Answers shall be written neatly and €€ 2.

Section 8§ (12 x 1 = 12 Marks)

Note : Answer all the guestions in one word or phrase.

(2) Eoch question corries 1M 3rks
in decimal form

Cocs the set P = {x: xis a prime, x <5} infGasterform. | S G 51 a

Eind the number of zeroes of the polynomial pix), whose graph is given.
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Equation Solution
[a) r+y=hs |;i"|'| (3, 3)
(b} 2r—=y=19 {a) (1, 4)

(c) v—y=0 (r) (5. 1)
Choose the correct answer.
(A) a-=>r, b—=p, c—q
(B) a-—=»p b—ag c—or
(€Y a—=qg, b—r c—p
(D) a—r, b—2g, c—>p
& Assertion : (0, 2) is a point on Y-axis.
Reason : Every point on Y-axis is at a distance o
Now, choose the correct answer.
(A} Both Assertion and Reason are true. Reas
(8) Both Assertion and Reason are true, but Reason is not supporting the Assertion.
(C) Assertionis True, but Reason is False,
(D) Assertion is False, but Reason is True.
7 sStatement-l : The lengths 3 cm, 4 cm, 5 em form a right angled triangle.
statement-l : If ‘@’ is the side of an equilatera triangle, then its height is J3a.
Now, choose the correct answer.
(A) Statement-] and Statement-ll both are True.
(B) Statement-| and Statement-Il both are False.
(C) Statement-l is True. Statement-ll is False.
(D) Statement-l is False. Statement-l is True.
8 The tangents drawn at the end points of a diameter are
9. Which of the following is not true ?
A sin (90° — ) = cosec 6 (B) sinB+costB=1
(C) cosecB-sinB=1 (D) sin90°=1
10. At a particular time, if the angle of elevation of the sun is 45° then the length of the

<hadow of a 5 m high tree is -

(A) 543 m 48] 10m
5
(D) _\Em

¢ zero units from the Y-axis

an Is supporting the Assertion.

(C) 5m
11. IfP(E)=0.3,thenP (notE) = ;
1
(A) 03 (B) -3'
(cy0 (D) 0.7
12. ii;l the classes 35— 39, 40 — 44, 45 — 49, ... of a frequency distribution, then the upper
boundary of the class 40— 44 is i .




.- e

15E & 16E

20
[

30.

L
Pl

Note :
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(b)
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(b)

(a)
(b)

4

section - v |5 = B = 40 Marks)

(1) Answerall the questions

{2) Each question carries 8 marks
- " (Ar B question.
(3) There is an internal choice for ¢ och qu

Prove that+/3 isirrational.
OR
rl
p =1

If sec @ + tan O = p, then prove that sin 8 = ;],' o

fA=1{2,3,456}B=(12357,C={246 8}, D = {2, 3,5, 7}, then find

i AUBr (i) BND

(i) CrD= (iv) D—A
OR

Find x so that x, x + 2, x + 6 are congecutive terms of a Geometric Progresslon,

Find the value of 'k’ for which the points (7, -2), (5, 1), (3, k) are collinear.

OR
The table below shows the daily expenditure on food of 30 households in a
locality : — o
|Daily Expenditure 1100 - 150150 — 200{200 - 250\25{1 —300[300- 350
(in Rupees)
Number of households |5 i | 4

Find the mean daily expenditure on food by a suitable method.

5 pencils and 7 pens together cost ¥ 95. Whereas 7 pencils and 5 pens together

cost T 85, Find the cost of one pencil and that of one pen.

OR
One card is drawn from a well-shuffled deck of 52 cards. Find the probability of

getting

(i}  aking of black colour
(ii) afacecard

(iif) aspade

(iv) acard nota heart

Draw the graph of the polynomial P(x) = x2 - 3x — 4 and find the zeroes.
OR
Draw a pair of tangents to a circle of radius 4 cm which are inclined to each

other at an angle 60°.
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Section =i (B2 =
Note: (1) Answer all the questions. T SN

(2) Each question carries 2 marks
Evaluate : log, (1 + tan? 45°)

Check whether — 3 and 3 are the zeroes of the polynomial x2 — g ot

."Sum of the two numbers is 82 and their difference is 38." Represant this informati
in the form of pair of linear equatjons with variables “x" and 'y, on

If the slope of the line passing through the POInts R(2, y) and S(x, 3) is 2, then find the
relation between ‘x’ and 'y’ f
If ABC is an isosceles triangle, right angled at G, then prove that Ag2 = 2AC,

The length of the tangent drawn from an ext€mal point R to a circle is 24 cm and the
distance of R from the centre of the circle Is 25 cm. Find the radius of that circle.

A person is flying a kite at an angle of elevation & and the length of the thread from

_bis hand to kite is ‘7" Draw a rough diagram for the abave situation.

s 7. Find the value of x.

']

Median of the observations fj X, - _;
5
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Section — Il (8 x 4 = 32 Marks)

Note: (1) Answer all the questions.

(2) Each question carries 4 marks.

Show that the following sets are equal :

(i) A={x:xIisaletter in the word ‘FOLLOW'}

(i) B ={x:xIsaletterin the word ‘FLOW'}

(i~ C={x:xisaletterin the word "WOLF'}

Which term of the A.P.: 3, 8, 13,18, ...i1s78 7

If (1, 2), (4, y), (x, 6) and (3, 5) are the vertices of a parallelogram taken in order, find

X' and 'y,

A ladder 25 m long reaches a window of building 24 m above the ground. Determine

the distance of the foot of the ladder from the building.

If tan 8 = % , then find sec 6 and cosec 8.

A tower stands vertically on the ground. From a point which is 15 meters away from
the foot of the tower, the angle of elevation of the top of the tower is 45°, What is

the height of the tower ?
A die is thrown once. Find the probability of getting (i) a Prime number (ii) @ number

lying between 1 and 5.
Write the formula to find the ‘mode’ of a grouped data and explain the terms involved in i
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